HSC 2001 - Information Processes and Technology

Question 8

8 A systems professional works with participants to identify the requirements of a system.
Based on these requirements, the following screen is developed:

UTILITY COSTS

Usage rate:
Cost:

Following participant feedback, the screen is modified to the following:

UTILITY USAGE PROFILE

Department:
Date:

Usage rate:
Cost:
Cost to date:

What is the most accurate description of this activity?

(A) Developing a project plan
(B) Information strategy planning
(C) Participant development

(D) Prototype modification
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Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 18.1 12.8 7.5 2 0
B 15.7 7.7 3.3 0.7 0
C 28.9 39.8 429 32.8 14.3
D 37.2 39.7 46.3 64.5 85.7
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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